
Table S1. The ratio of developing agents 

Solvent  proportion 

Petroleum ether: ethyl acetate  2:1; 4:1; 6:1; 8:1; 10:1 

Petroleum ether: isoamyl alcohol  2:1; 4:1; 6:1; 8:1; 10:1 

Petroleum ether: ethyl acetate: dichloromethane  1:2:1; 1:4:1; 1:6:1; 1:8:1; 1:10:1 

Ethyl acetate: ice acetic acid: dichloromethane  2:1:1; 4:1:1; 6:1:1; 8:1:1; 10:1:1 

Ethyl acetate: glacial acetic acid: cyclohexane  2:1:1; 4:1:1; 6:1:1; 8:1:1; 10:1:1 

Ethyl acetate: glacial acetic acid: hexane  2:1:1; 4:1:1; 6:1:1; 8:1:1; 10:1:1 

n-Butanol: glacial acetic acid: dichloromethane  2:1:1; 4:1:1; 6:1:1; 8:1:1; 10:1:1 

n-Butanol: glacial acetic acid: petroleum ether  2:1:1; 4:1:1; 6:1:1; 8:1:1; 10:1:1 

n-Butanol: glacial acetic acid 2:1; 4:1; 6:1; 8:1; 10:1 

 


